Maths

Today, we will be looking at fractions of amounts.

Remember the famous - 'divide by the bottom, then times by the
top!'

Here's an example:

3 of40:=12
10

Divide by the bottom, so how many
lots of 10 go into 40. Answer 4

Then times by the top, so 4 x 3 = 12

Here's another way of doing it:



Number of hoops 10 Divide between hoops
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Your task today - In your home learning book, copy and complete the
calculations below:

Numb h interested i
umber of hoops interested in 3 Of/40 - 12

Solve the following:

. 2 of 20- 6. = of 28-
2. < of18- 7. = of27-
3. & ofd5- 8. 5 of35-
4 5 of 24- 0. = of 32-
5. 2 of 70- 10. & of 50 -
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